£ x B’® B &
£1 FENOREEMELISY - BLAELZISHY - AT
K5 | AEEEEN MAEEETTE B E i K @%@
10 4F E 305 1 672 17 456 11
11 44 E 287 1 530 15 157 4
12 & E 280 1 368 13 638 6
®2 ATERFOELEY - HAELBHY - AT
KB K |y o BooE K

il H 1) ) | {ERBI ) |19 %5 | 1up e
ol T R mE o % uy )

HO # 133 280 1 368 13 638 - —
¥ C A 49 86 331 4 136 48.1 12.5
H OB B A 92 178 642 4 062 22.8 6.3
e 1t ) 22 38 76 422 11.1 5.6
B (8) %= 22 39 79 498 12.8 6.3
z ) i, 10 17 26 170 10.0 6.5
N s 195 358 1 154 9 288 25.9 8.0
EX = 21 32 214 2 683 83.8 12.5
=B A € 15 59 — 790 13.4 —
z ) fh, 46 67 — 877 - -
AN i 82 158 214 4 350 - -

D F—FEHTHAMU EORELZER L 254,
2) F—FHEG CHAMU LOREZ ZE T 5GA,

R3 XiE - RENOAEREEXSH

=

164

ZRENG EUMAEL 720 TEBOEESH LY 20,
HEZ LI TE ELINA L 72,

& |[BRHE b o\ ER) & R —R(ERWmEERTH K| B |(RY| & |FHE Y -
I I T i O S E S i Bl & w12

s 5| % k| - SRR RN T A R )
el T B | B BB e P O pee| BB EO
FE | TERIRR| | IAE E |ME|BCECE |0 ¥ | ¥ (X B || Rt

i $ | 133 2| 3| 11| 4| 7| 3|15 11| 16| 6| 1| 5| 7| 8| 8| 3| 11| 12
M50 N & W] 46| —| 1| 2| 1| 1| 1| 8| 4| 4| 1| —| 2| 7| =] 5| 1] 3] 5
B850 ~ 99 A 81| —| 1| 3| 2/ 1| —| 3| 2| 3| 2| —| 1| —| —| 3] 2| 6| 2
€ 1100~199 A | 18] —| —| 2| =] 2| 1| 1] 2| 2| 1| —| —| —| 4| =| —| 1] 2
F00~209 A 10| —| 1| —=| 1| =] = = 1| 1| =| 1| 1| | 1| | =] 1] 2
=130 ~49 A | 16| 2| —| 1| —| 1| 1| —=| 2| 4] 2| —| —=| = 2| =] —=| =] 1
21500 ~ 999 A 9 —| = 3| =| =| =| 3| =| 1| =| =| 1| =] 1| —=|—-| —-| -
1000 A Ak 3 = = =| =] 2| =| =| =| 1| =| =| =| =| = =| =| =| -

MRNETPEZ S FRI2FEFEFR (HEXED)



165

<X R&E

B>

x4 ATERFONEY, HLUEREABRUVEEREEERS

A 2 s ~
wamm | WE2 gy B b | mey || For | BB B P
= [ N g BIPTES | BALIESE
et | 1 3
B OE|®E W O B U A 2 710 232 232 220 10 2
o H |8 # % B U A 1 426 99 99 91 5 3
LA I B B 73 —~ - - -] -
7 B 4 209 331 331 311 15
H — H B b #l 1 997 321 321 315 4 2
7 + b NZ 332 55 55 55 — —
A4y Tt T a— 151 25 25 25 — —
T F L T — F 62 10 10 10 — —
R IR/ = RN Vg 12 2 2 2 - —
* D |92 NZ 209 33 33 33 — —
7 =] =] N % A 272 43 43 41 1 1
i3 [ = ¥ v 38 6 6 6 — -
fE /s v< L —7F L 24 4 4 4 — —
o] i) 4 R *= 12 2 2 2 — —
o DA AT A 175 26 26 26 — -
N, N=VAFNAVELVALATIR 24 4 4 4 — —
> bF7 7@V F L 52 9 9 9 — —
F M5 B K v 7 5 v 42 7 7 7 — —
kY 72 v v = F LoV 6 1 1 1 — —
k iz - NG 89 14 14 11 2 1
- Tt 1t iR = 12 2 2 2 — -
J o= o~ F ¥ v 213 35 35 34 1 —
1 - 7 2 J = N 61 9 9 9 — —
A 4 J — I 199 32 32 32 — —
AF AT F VI v 6 1 1 1 — —
~ N M — —
Ba—— E E|/ % * ¥ v 6 1 1 1
¥z & H B " # 2 040 317 317 282 16 19
7 + k NG 301y 2 wm oo A H v 205
A4 Y T F T ) a— ) 16| N, N=YAXAF LKL ALTIK 12
A4 7T vt V7 a— ) 379 | & v L v 12
Tz F L T — F 70(1-1-2-2 —Fh77mv )& 6
TFLVvIYa-VE)ZFNI=T NV 3|5 7 7 v v x F L v 20
TFVy S )a—E) 2FNT=F LT ETF—h 6| b 3 B K v 7 5 v 54
ITFLYIVa—VE)TFLZ—FT)V 201(1,1,1 — P YU Z v L = & v 6
g ﬁz“/vl\—yﬁu/v&y-lf‘/ 6|V Z wm L == F L v 14
* D 12 NZ 974 | k v - v 1115
7 =1 =4 N v A 65|/ n ~= v -~ F Y v 440
M B oA Y T F 1321 - 7 7 7 = | 200
i3 [ - ¥ v 60412 — T 2 7 = N 25
fE s v< L —7F 0 415 | A 4 J — % 269
ik i A F iz TNWAF VA4 T F 5k v 251
g by 1t R ES 6|x F N = F N 4 v 180
VA7 = SEEONEEE S A 85
®oOo& B B wm A 25 4] o 4] -] -
q o x ES v L v 9|7 » = L ~ F ¥ v 13
k Ju st v 25
/N B 4 062 642‘ 642‘ 601‘ 20‘ 21

MRNETPEZ S FRI2FEFEFR (HEXED)




<t EEBRBEHFHE> 166
K4—2 HFHEEEFNOREH, BAFEESABERVEEREEERS
A % mom K 4
. Wl o - g, | BAIEE | f172 o7 &
HEHEK X 4 L7 = £ I E % BRI iﬁz{/ﬁ% ) 0 3
5T IEER
¥ 7 YV v = kU 24 4 4 3 - 1
¥ 7 v A Kk F# 46 8 8 8 — -
g g | BYVIRRALYTYVT NSy 30 6 6 5 - 1
Elhyprv e o4y 75—k 88 15 15 15 — —
il 1t 7K ES 38 7 7 7 — —
s - ~ v v v 56 9 9 9 - -
==X/ = ik 1t Tt ® 12 2 2 2 — —
it e 7K = 11 2 2 2 — —
H E£ |~ N ¥ N 6 1 1 1 — —
x v AN 7T NV 5 kB K 86 17 17 12 — 5
it [ 25 5 5 3 2 -
/N G 422 76 76 68 2 6
pil K 2 4 A 12 2 2 2 - -
V4 o IA [ 142 23 23 21 1 1
®OE| K Fic) 39 6 6 6 — —
. # 240 37 37 34 2 1
& B - v 5 v 26 5 5 5 - -
S i 39 6 6 6 - 1
/N z 498 79 79 73 3 3
7 & F = + U 66 11 11 11 — —
F 4 A I Z Ok 38 4 4 3 1 -
P T 6 1 1 1 - -
o fho VAR N VR S 18 3 3 3 - -
FEVHE AF NV —tert — 7 F LT —F ) 18 3 3 3 - -
AFLYERT 2=V A YV T F—h 24 4 4 4 — —
/N H 170 26 26 25 1 0
@ s 9 361 1 154 1154|1078 41 35
®£5 AEEROGEXBRBEEHERSDAR
£ & B ® AWBlE DK & Bl 8 o K 4 fE ¥ &’ O % # K &
a 1 2 3 | & | 1 2 3 | 3 1 2 3 3
@ % |1216| 106 46[1368/1 031 70| 145|1 246| 1 102(80.6) 105(7.7)| 161(11.8)| 1 368
) r Al 318 13 0/ 331| 29 7 5/ 308 311(94.0) 15(4.5) 5(1.5)| 331
ﬁ%&%‘z*ﬁu{ (8| 315 4 2| 321 305 3 1| 309| 315(98.1) 4(1.2) 200.6)| 321
A GRE) | 204 20 7 321 289 6| 17| 312| 286(89.1) 16(5.0) 195.9)| 321
¥BEAEDE 67 2 7 76 41 0 5 46 67(88.2) 2(2.6) 7(9.2) 76
&R (%) % 76 2 1 79 56 1 2| 59 73(92.4) 3(3.8) 3(3.8) 79
F Do EY 26 0 0| 26| 25 1 ol 26 25(96.2) 1(3.8) 0(0.0) 26
B% | 1200 65| 29| 214| 19| 52| 115 186 25(11.7) 64(29.9)| 125(58.4)| 214
% )NIE%

MRNETPEZ S FRI2FEFEFR (HEXED)



167 <EEXERBEHE>
x06 FERBETERSDBEI HFEDHE
fE ¥ IR B F # K 4
HEERK 10 4 & 11 4 12 § &
1 2 3 E 1 2 3 B 1 2 3 3
N 123 190 246 123 119| 175 1102] 105] 161
i B @39 ary | aen| T g0 | @8] a1 | 150 s0.6)| @.7)| a1.s)| 1368
. : 365 34 9 322 17 8 311 15 5
A (8962% (s.gg (2.% 408 (92(.33% (4.% (2.:;% 347 (9468)1 (4.% (1.2)1 331
OB A @3| 65| @ 704 @0 | 65| e 736 @9 | 61| 63 642
WELFIH ] 051)| 6.9 1.0 2f@)| e ao| 2 ¢s2| 6| 02|
e 7 7 1 7 7 5 7 3 3
&8 () % 95| 6.00| @5 81 (5.9 | 8.2 (5.9 851 (92.4)| (3.8)| (3.8) ”
. 31 0 0 0 0 2% 1 0
TomOEEY 0.0 | ©.0 | ©.0 31 0.0 | 0.0 ©.0 30 ®%2 | 69| 0.0 26
B Fl 86| 6L 60.1)] 38| 1.0 .9 622 29 q1.7)] 0.9 | 8.4 |
% () ML
R7 FAEBRIZED(CHBEEOKRR ®8—1 EAHSEECHBEEIREDERER R (HERE)
=3 WERE . wermner | o 1 il R R B E
P W OE O OE DN A e A | | 27 MK SRk Jﬁ/\ﬁl & =
X5 EH % B A 3 41 197 -
EPERANY A B - B W BR| 15| 7.5 H A 17 97 165 97 58.8
*f | EETR - FEHFEOWE| 8 4.0 O ﬂﬁ 7 17 25 — —
= f/(‘ A Eily), K %“‘ . . 52 | g e 7 S S — F¥%
RO é{¢@§§;~%§% L8 | 5 o 5 AR R Al 77 —
0 TG B Ik B O fRFAEHR | 24) 11.9 ®8—2 RHPFSLETCHEIREOEHKR(BHRE)
k@R | X 7 B o % &) 30 14.9 R AR H R A
w | ¥ | R ik H | 52]25.9 %V\J\Jy\ﬁ(ﬁgﬁﬁﬁ 372 369] 99.2
” | ERRD 3%6| 385| 99.7
%z %) s » *f 5| 30| 14.9 4 K @%ﬁ sev| %a2| o9&
S z 201100.0 %@ﬂﬁ 1540|1 540| 100.0
ERERAE | % 4 R o & B % 1| 61] 18.0 A 1A O A 312| 308| 98.7
B{lglbf;(f}:ﬁk Eﬁ{}ﬁ ST %% ?ﬁ = sl 2.4 i 7 k f&%i@gﬁ% 310 310( 100.0
- R BRI 0 s 7 312| 312/ 100.0
B | Lk = LI TS 255|  255] 100.0
7 % A [147] 3.4 5 v o5 — | RO 254|254 100.0
TEEAE | FERS - RAEREMOBS | 19| 5.6 ik 1 255| 255| 100.0
" 7 v R iy | 108| 109| 071
e Ll B
4 2 91100.0 .
% 7 540 B U A% %@%%%io 6| 16| 10000
7R E<I=N 3= Pty .
% B2, B3 ERKSOHEH o 76] 76] 100.0
& it 5 085|5 061(99.5%
£9 BEARBEAEOEGRS Pa—
e
Kp o Xk E f‘ _ W % £10 (EREENRIHRBT 3 AECER)
x & £ = W & A A Bk [ | WEk
8 % 1 15 86 @ % 45 66 899
5 . U AL ERIE) 2 3 8
oA 8 10 45
hEs |0 B AR 6| o 30
G 1 2 11 R E (1 5 0E) 8 12 70
_RyBy 1 2 4 EIH (1) E{EIE) 2 4 18
- W & E(Lﬁ{ﬁ”i&) 3 5 105
# 1 1 9 0 (1 ERE) 1 5 100
EX s 3 4 17 FAFHF (1 SRIE) 4 5 35
3 (1 A7) 3 5 173
g ] e e 1 1 20
4 He 2 2 136
LA &t # 0 0 0
2| & iR 1 1 40
i FE 1 1 40
Wlw o5 om 11 13 124
% AR

MRNETPEZ S FRI2FEFEFR (HEXED)




